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This partial fill-in paper consists of 14 pages plus instructions for the completion of a mark-reading sheet
Read the following instructions CAREFULLY before answering the paper

The paper 1s divided into two sections Section A and Section B

SECTION A

Candidates must answer ALL the questions in this section

SECTIONB

In this section ALL the questions must be answered on the mark-reading sheet which is supplied.
Carefully follow the instructions for the completion of the mark-reading sheet

Please ensure that you use the correct unique number on the mark-reading sheet
If you are registered for ECS1601, use the unique number 494261
If you are registered for REC1601, use the unique number 469256

As your mark-reading sheet can get lost, you MUST also wnite down your answers for this sechon On the
last page of this paper space i1s provided for this purpose
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SECTION A [50 MARKS]
Answer ALL the following questions in the blocks provided
QUESTION 1 [71
()  Name the three flows associated with the government in the circular flow model. (3)
(n) Name the four lags associated with the implementation of monetary policy. (4)
QUESTION 2 [15]
() lustrate on the following diagram how the imposition of an excise tax affects the

equiibrium price and quantity of cigarettes Remember to label your diagram (3
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(n) You are the chief economic adwisor for the government of Mahala Mahala Is expernencing
demand-pull inflation despite the stated objective of the government to achieve pnce
stability

Explain, with the aud of the following diagram, what steps the government of Mahala should
take to achieve this objective 9

- Clearly indicate on the diagram any changes to aggregate demand or aggregate
supply, pnces and production that might resuit from the actions taken by the
government The diagram counts three (3) marks

- In your explanation you must deal with the following*
The instruments of fiscal policy, how they are applied and what effects they have
Your explanation counts six {6) marks
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Given a Keynesian model of an open economy, Illustrate on the following diagram the
impact of an increase in autonomous imports on the equilbrium level of ncome

Remember to label your diagram

(3)

QUESTION 3

Given the following information

)

C =400 + 9/10Yy4

1=500

G=1280

t=1/3

X =900

Z =600 + 1/10Y

Fuli-employment level of income = 5510

Calculate (Show all your calculations)

the marginal propensity to save

(8]

(2)
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(1) the muitipler. (2)
(m) the equilibnum level of iIncome (2)

(v) the increase in exports required to move the economy to the full employment level of

income (2)
QUESTION 4 [20]
()  Explain the difference between nominal GDP and real GDP (2)
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(n) Discuss how an increase in the dollar price of gold will affect the value of the rand on the
South African foreign exchange market 4

(m) What are the determinants of induced consumpton in the Keynesian model of an open
economy with a government sector? (4)

(v) Bnefly explain why a decrease in the interest rate would lead to an increase in the income
level In the AD-AS model. Comment on the factors which have an influence on the size of
the increase in ncome (5)
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(v) Bnefly discuss the policy dilemma in an open economy (5)

kkkk * *kkk
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SECTION B [50 MARKS]

Answer ALL the questons In this section on the mark-reading sheet which I1s supplied. Each question is
worth 114 marks Note Only ONE statement per question is correct

1. When economists say that money 1s a store of value they imply that

[1] money has a greater value than other assets.

[2] the value of money Is not affected by inflation.

[3] money can be used to measure the value of other commodities

[4] money is a way of saving purchasing power to be used when needed.

2 The positive balance on your chegue account 1

[1] an asset for you and a liability for your bank.
[2] a labiity for you and an asset for your bank.
[3] an asset for both you and your bank
[4] a habilty for both you and your bank

3  The quantity of money available will increase when

[1] a person deposits his or her money with a bank

[2] banks keep their reserves with the Reserve Bank.

[3] banks make loans that result in additional deposits

[4] the govermment keeps its funds with the Reserve Bank

4 If the required reserve ratio 1s increased, the money multipher

[1] decreases

[2] remains the same, as long as banks hold no excess reserves.
[3] could either increase or decrease

[4] increases.

5 An nghtward shift in the demand for money curve will lead to

[11 alower interest rate and the same quantity of money
[2] a higher interest rate and the same quantty of money.
[3] ahgher quantty of money but lower interest rates

[4] a hligher quantity of money but the same interest rate

6 An appropriate measure of government’s involvement in economic activity 1s

(11 the volume of government subsidies

2] the total government spending.

[3] the share of government spending in total spending in the economy
[4] the growth of government spending

7 takes a smaller proportion of iIncome from the high-income groups than from the
low-Income groups?

[1] Company tax

[2] Value-added tax

[3] Personal income tax
[4] Capital gans tax
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If the supply curve of coffee has its normal shape and the price elasticity of the demand for coffee 1s
relatively elastic, then a specific tax of R1 placed on each kilogram of coffee will be borne

{11 entirely by consumers.

[2] entirely by producers

[3] more by consumers than by producers
(4] more by producers than by consumers

According to Adam Smith, international trade mainly arises because of
[1] differences in foreign currencies.

[2] differences In factor endowment

[3] trade barners.

[4] trade agreements.

Consider the following production possibilities for Countries A and B.

Country A Country B

Warships Houses Warships Houses
80 80 40 60

[11 Country A should produce both warships and houses

[2] There s no basis for trade between these two countries

[3] Country A should produce houses and Country B should produce warships.
[4] Country A should produce warships and Country B should produce houses.

Assume the domestic price of good X 1s R12 and the world price 1Is R10 In the short run, if there
15 no trade restnictions on good X, net exports

[1] and GDP in the domestic economy will Increase

[2] and GDP in the domestic economy will decrease

[3] will increase and GDP in the domestic economy will decrease.
[4] will decrease and GDP in the domestic economy wiil increase

if the SARB reduces the interest rates relative to the rates in the USA, 1t wiil result in

[1} more capital Inflows into South Africa, increasing the supply of dollar leading to a depreciation
of the rand.

[2] more capital inflows into South Africa, increasing the demand for dollar leading to an
appreciation of the rand

[3] more capital outflows from South Africa, decreasing the supply of dollar leading to a
depreciation of the rand

[4] more capital outflows from South Afnca, increasing the demand for dollar ieading to a
depreciation of the rand.

Under a system of floating exchange rates
[1] the currencies of countries with a relatively high inflahon rate tend to appreciate
[2] the currencies of countnes with a relatively high inflation rate tend to depreciate

[3] the currencies of countnes with a relatively low Inflation rate tend to depreciate
[4] exchange rates are insensitive to differences in the rate of inflation between countries.
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The three important injections into the circular flow of Income and spending are

[11 nvestment spending, government spending and imports
[2] exports, taxes and savings.

[3] exports, Investment and government spendmng

[4] savings, imports and consumption

The objective of price stability means

[1] there should not be price increases In the economy

[2] keeping inflation as iow as possible

[3] pnces should always stay constant

[4] pnces should be determined by forces of demand and supply.

The three ways of calculating GDP are

[1] production, price and income methods

[2] mcome, product and services methods

[3] expenditure, spending and production methods
[4] ncome, expenditure and production methods.

In the national accounts, the difference between gross investment and net investment is

[1] imports

(2] capial fight.

[31 income earned by foreigners
[4] depreciation

In macroeconomic theory

[1] total spending dunng any particular penod is always equal to total production
[2] total spending may be equal to, greater than or less than total income
[3] equality between total spending and total iIncome i1s guaranteed.

In an economic model, an endogenous vanable I1s

[1] astand-in for more complicated varnables.

[2] determined by the model itself.

[3] determined outside the model.

[4] a vanable that has no effect on the workings of the model

Gabnel's disposable income increases from R2 000 to R2 500. As a result his saving increases
from R300 to R450. This implies that his marginal propensity to consume is

[1] 03
[2] 07
3 076
[4] 0,82
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Assume share pnices on the Johannesburg Secunties Exchange drops dramatically and families
find that their wealth has declined. Which of the following 1s consistent with this decline in family
wealth?

[1] The marginal propensity to consume in South Africa will decrease.
[21 The marginal propensity to consume in South Africa will iIncrease.
[3] Autonomous consumption in South Afnica will Increase
[4] Autonomous consumption in South Africa will decrease

If the government increases govemnment expendrture, but keeps the tax rate constant,
consumption spending will , total tax revenues will , and investment
spending wili

[1] stay the same; stay the same, stay the same
[2]1 ncrease, stay the same; stay the same

[3] increase; Increase; stay the same

{4] ncrease; increase; Increase

The marginal propensity to import

[1] Increases as income Increases
[2] decreases as Income INncreases
[3] remains constant as Income Increases

Given the import function Z = 300 + 2/3Y,

[t] the marginal propensity to save 1s 1/3

[2] the induced componentis 300

[3] 1mports are seen as autonomous,

[4) 2/31s the proportion of any increase in income that i1s spent on imports

Use the following information to answer questions 25 and 26

25

26

C =100+ 0,8Y4

=250

G=170

X -Z=540-0,25Y

T=0,1Y

Equiibrium level of income = 2000

The budget surplus at the equiibrnium level of income Is

(1] 30
[2] 70
[3] 400

[4] There 1s not enough information to calculate the value of the budget surplus

Net exports at the equilibrium level of Income 1s

[1] 20
[2] 40
3] -100

[4] There 1s not enough information to calculate the value of net exports
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An increase In leakages from the Keynesian model with a government leads to in the
multipher

[1] adecrease
[2] nochange
[3] anincrease

Investment demand 1s negatively related to the real interest rate because

[1] alower real interest rates makes more investment projects profitable

[2] consumers are willing to spend less and hence save more at higher real interest rates.

[3] interest rate flexibihty in financial markets assures an equiibnum in which saving equals
investment

The investment demand curve shifts nghtward if

[1] the expected profit rate increases

[2] the real interest rate falls.

[3] savings increase

[4] the economy moves Into a recession.

If autonomous expenditure changes, the multiplier determines the size of

[1] the shift of the aggregate supply curve.

[2] the shift of the production possibilities curve

[38] the shift of the aggregate demand curve.

[4] the movement along the aggregate demand curve.

A simultaneous decrease In aggregate supply and aggregate demand will always
[1] increase the production level.

[2] reduce the production level

[8] ncrease the pnce level

[4] leave the pnce level unchanged

A country expenences an increase in the price level and a decrease in real GDP. Such an outcome

might have occurred because aggregate supply and aggregate demand
[1] increased increased

{2] decreased did not change

{3] increased did not change

(4] did not change increased

Demand management policy measures tend to affect

[1] output and the level of employment in opposite directions

[2] output and the pnce level In opposite directions

{3] the level of employment and the price level In opposite directions
[4] the pnice level and the level of unemployment in opposite directions
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An increase n deficit spending by the government that 1s financed by domestic borrowing would
most likely

[1] increase aggregate demand, but at the expense of lower investment spending
[2] decrease aggregate demand, but stimulate investment spending.

[3] increase aggregate demand, and stimulate investment spending

[4] decrease aggregate demand, as well as investment spending

Suppose the SARB Iincrease the Iinterest rate while oil prices are nsing. What would be the expected
effect on the equilibnum level of real GDP and the price levei?

Pnice level Real GDP
(1] uncertain decreases
2] uncertain uncertain
[3] decreases decreases
4] Increases Increases

A decrease in the rate of inflation

[1] causes the nominal interest rate to iIncrease

[2] causes the real interest rate to decrease

[3] causes the real Interest rate to Increase.

[4] has no effect on either the real or nominal interest rate.

If the consumer price Index (CP1) increases from 100 to 200 and the nominal wage increases
from R100 to R400, the change In the real wage 1s

11 R100
[2] R200
[3] -R200
[4] R300

Use the information below for country Z and answer question 38 All the figures are in millions

38.

39

Total population in 2001 1800
Total labour force in 2000 550
Total labour force in 2001 675

Number of people unemployed in 2001 225

The unemployment rate in 2001 1s approximately

1] 12,5%
[2] 22.7%
3] 33,3%
[4] 40,9%

Available data indicate that the level of real GDP will continue to decrease over the next few months.
This suggests that the amount of unemployment will be

[1] structural, decreasing
[2] frictional; iIncreasing
[3] cyclhical, increasing
[4] seasonal, increasing
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40 According to Say's law unemployment does not exist

[1] structural
[2] cychical
[3] seasonal
[4] fnctional

As your mark-reading sheet can get lost, you must also wrnite down your answers for Section B in
the space provided below
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5 25
6 26
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8 28
9 29
10 30
11 31
12 32
13 33
14 34
15 35
16 36
17 37
18 38
19 39
20 40
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